Exemplar Problem

Trigonometry Functions

72. One value of 6 which satisfies the equation sin49 - 25in29 — 1 lies between 0 and
21.

4 2
Ans: We have, sin 6 —2sin 6 -1

2
Let ¥ =sin 6 Therefore, we get

=y’ -2y-1=0

-b+ Vb —4ac

2
We know that for quadratic equation @~ +bx+¢ =0 x= 24 . Therefore, we get

-0\~ —ax1x -1

=y 2x1
=y=24_-\/2m

2(1 £v2)
=y=2:22»/2= =

On canceling common terms, we get

=y=1%V2
=sin29=1t\/§

2 2
=sin 6=1+VvZorsin 6=1-V2

, 2
We know that =1 <siN6 <1 Therefore, we say that Sin €. <1

But we have,

2 2
=sin 6=1+V2orsin 6=1-V2
Which is not possible.

Thus, the given statement is false.



